Greek 1A: Lesson 10

Imperfect Active Indicative

Sing. Pl
1 €Avov -opev

-€¢ -€T€
3 -€(v) -ov

Primary tenses: present, future, perfect
Secondary tenses: imperfect, aorist, pluperfect

ANANAN

AaronP

Augment is added to the secondary tenses. It is usually an epsilon (¢-) before a

consonant; alpha/epsilon becomes eta (1) and omicron becomes omega ().
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Lesson 10
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dyw &Ew fiyayov o Myt
raise/take up/take away - R -
olpw apd npa npKo NPHOL

go (for a paradigm, see Croy, § 336)
Balvw BroouaL Py BéPmKa:
O’LVOCBO(I’.V(JL) (go up, climb, ascend)
KOC‘EOCﬁOL ww (go down, descend)

die
amobriokw  amobavodual  amedurov T€OVUNKe (LXX and NT)

kill, put to death
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GTOKTELV® GTOKTEVRD G TEKTELVE, G TéKTOV

remain (for a whole paradigm, see Croy, §§ 344-49)
HEV® ave) éueLva HepEVKOL
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